
No part of the candidate evidence in this exemplar material 

may be presented in an external assessment for the purpose 

of gaining credits towards an NCEA qualification.























     

  

  

  

Achievement  exemplar  for  91381  –  2016   Total  score:  11  
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Annotation  

1   A4  

In  part  (a)  the  candidate  has  explained  two  causes  of  customer  dissatisfaction,  
but  did  not  fully  explain  the  impact  on  the  customer  or  why  this  has  caused  an  

increase  in  customer  dissatisfaction.  

Holistically,  the  candidate  has  explained  an  effect  on  the  business,  but  has  not  

explained  the  effect  on  the  stakeholders,  such  as  employees  and  investors.  

In  part  (c)  the  candidate  has  explained  both  solutions,  providing  detail  as  to  
what  the  solutions  are  and  how  they  would  improve  the  quality  of  the  product  

to  overcome  the  issue  of  customer  dissatisfaction.  

2   A3  

In  part  (a)  the  candidate  has  only  explained  one  cause;;  the  second  cause  was  

stated  with  no  explanation.  One  effect  of  the  delivery  issues  was  explained  for  
competitors.  

In  part  (b)  there  was  some  explanation  of  the  positive  effect  of  a  direct  
marketing  channel:  “…  can  be  sure  that  deliveries  of  product  arrive  on  time,  

and  reliable  instead  of  leaving  that  up  to  a  distributor  and  having  to  rely  on  

them”,  but  the  positive  effect  of  a  strategic  alliance  was  not  explained.  

3   A4  

The  candidate  has  explained  two  causes  of  the  slow  growth  in  demand,  and  
has  explained  the  effect  on  employees  and  the  business.  The  effect  on  

suppliers  and  investors  was  not  explained.  

Solution  One  was  explained:  a  lower  fat  /  salt  content  of  the  cheese  will  make  

it  “more  appealing  to  health-­conscious  consumers  …  which  would  most  likely  
make  sales  …  because  their  products  are  healthier,  which  would  also  give  an  

advantage  over  competitors”.  

Solution  Two  was  not  explained  in  context  as  to  how  this  solution  might  solve  

the  problem  of  slow  growth  in  demand.  
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